<tuml version="10" encoding="UTF-8"?=

<hgx xmins="http:/ histogenetics.com/schema/hgx- 1.2, x5d” version="1.2"
smilns esd="http:ffweaw w3 org 2001 XMLSchema” amins:xsi="https fwwee w3 org 200 L XMLSchema-instance™=
<project names=""»

<reporting-center code="" />

<sample id="Sample 1D 2" center-code="001" receive-date="20120410" >
<typing>

<interpretation date="20211110">

<haploid locus="A" method="5BT" type="0000" />
zhaploid locus="A" method="5BT" type="0000" />
<haploid locws="8" method="58T" typa="0000" /=
<haploid locws="8" method="58T" type="0000" />
<haploid locus="C" method="58T" type="0000" />
<haploid locus="C" method="58T" type="0000" />
<haploid locus="DRE1" method="3BT" type="0000" />
<haploid locus="DRB1" method="5BT" type="0000" /=
<haploid locus="DRE3" method="SBT" type="0000" />
<haplaid locus="DRE3" method="5BT" type="0000" />
<haploid locus="DRE4"™ method="5BT" type="0000" />
<haploid locus="DRE4" method="SBT" type="0000" />
<haploid locus="DRB5™ method="5BT" type="0000" />
<haploid locus="DRB5" method="SBT" type="0000" />
<haploid locus="DOB1" method="5BT" type="0000" /=
=haploid locus="DOB1" method="38T" type="0000" />
<haploid locus="DPB1" method="58T" type="0000" />
<haploid locus="DPB1" method="38T" type="0000" />
<genotype-list db="HLADB" version="3.34.0">
<diploid-combination locus="A">

<locus-block>

<allele-list>

<allele=0000< fallele

<fallele-list=>

<flocus-block=

<locus-block=

<allele-list>

<allele=0000</allele>

<fallele-list=

<flocus-block>

</diploid-combination=

<diploid-combination locus="8">

<locus-block=

<allele-list>

<allele>D000< allele>

<fallele-list>

<flocus-block>

<locus-block=

<allele-list>

<allele=0000< allele >

<fallele-list»

<flocus-block>

</diploid-combinations

<diploid-combination locus="C">

<locus-block=

<allele-list>

zallele=0000< alleles

=fallele-list>

< flocus-block>



<locus-block>
<allele-list>
<allele=0000<fallele=
<fallebe-list>
<flocus-block>
</diploid-combinations>
<diploid-combination locus="DRBE1">
<locus-Mlock=
<allele-list>
<allele=0000< allele=

< fallele-list>
<flocus-block>
<locus-block>
<allele-list>
<allele=0000< allelas
<fallele-list>
<Mocus-tlock:
</diploid-combination=
<diploid-combination locus="DRBE3">
<locus-ocks
<allale-list>
<allele=0000< allele>
<fallele-list>
<flocus-block>
<locus-ock=
<allele-list>
Zallele=0000 fallele
<fallele-list>
<fMocus-block=
</diploid-combination=
<diploid-combination locus="DRE4™>
<locus-Mock>
callele-lists
<allele=D000=/allele>
<fallele-list>
<flocus-block>
<locus-Mock=
callele-list=
<allele=0000</allele=
<fallele-list>
<flocus-bock=>

= diploid-combination>
diploid-combination locus="DRB5" >
<lpcus-Mocks
<allele-list>
<allele=0000</allele>
<fallele-list>
</locus-ock=
<locus-Mock>
callale-list>
2allele=0000< fallelas
<fallele-list>
<flocus-block>
«/diploid-combination>
=diploid-combination locus="DO&1">
<locus-blocks
<allele-list>



<allele=0000< allele>
<fallele-list>
<focus-ock=
<locus-blocks
Zallale-list>
<allele>0000</allele
<fallele-list>
<flocus-lock=
</diploid-combination=>
zdiploid-combination locus="DPB1">
<lacus-blocks
<allele-list>
<allele>0000</ allele =
<fallele-list>
<flocus-ocks
<locus-blocks
<allele-lists
<allele>0000</allele=
<fallele-list>

< flocus-blocks
</diploid-combination>
</penotype-list>
<finterpretations
=hla locus="A" />
<hla locus="8" f»
<hla bocus="C" />
<hla locus="DRB1" />
<hla locus="DRB3" />
<hla locus="DRB4" />
<hla locus="DRBS" />
<hla locus="D0OB1" />
<hla locus="0DPAL" />
</typing>

<fsample>
</project>

</hgx>



